2 yz x’.
y _=-'—16x 5. E+l—6'=l
This A:S a parabola. ‘This is an ellipse.
as= a=5 b=4. Findthe valueof c:’
- yerex: (0, 0) 2 ng? bt =25-16=9 3
Focus: (4, 0) é "w" ~0 = ‘(0 0‘)‘ - c=
enter: \
Directrix: x = 4 Vertices: (0. 5), (0, -5)
16x* =y — x*=y Foci: ©.3). 0.-3)
Thisis a parabola ' 2y
Yer;ex: 0,0 This is an ellipse.
Focus: (0, &) a =4, b=3. Find the value of c:
Dlrecmx Y= =at-b*=16-9=7 = c=7
- - Center: (0, 0) 9.
, Vertices: 0, 4), (0, 4) 7
Tyl Foci: (0, 7). (0. - ¥7)

This is a hyperbola.
a=>5 b=1. Find the value of c:

C=a*+b*=25+1=26 — c=J2—

Center: 0,0
Vertices: (5,0), (-5, 0)
Foci: (v26,0), (-v26.0)
Asymptotes: y=1x, y=-%x
2
%5 -x*=1
This is a hyperbola.

a=5 b=1. Find the value of c:

ct=a’+b*=25+1=26 — C=«E
Center: 0,0

Vertices: 0, 5, (0, -5)

Foci: (0, 26 ), (0, -J2_6)
Asymptotes: y=5x;, y=-=5x

7. x*+4y=4
This is a parabola.
Write i m standard form:

x*=-4y+4
X =-Ay-1)

a=1
Vertex:
‘Focus:
Directrix:

0, 1)
0,0

y=2

10. 9x* +4y* =36
This is an ellipse.
Write in standard form:

3y* -x*=9
This is a hyperbola.

Write in standard form:
2 2

y X

3 9

a-= J- b=3 Fmdthevalueofc
=at+bh*=3+9=12 = = J12 =243
Center: ©,0)
Vertices: (0, B). (0. -¥3)

(0,243), (0.-243)

YR V3
3K Y=g X

Foci:

Asymptotes: y=

4x® - y =8
Thisisa hyperbola

Write in standard form:

2
xty

2 8
a=J2_, b=J_=2J§. Find the value of c:
ct=a’+b*=2+8=10 = c=410

Center: (0, 0)

Vertices: (—ﬁ, 0), (ﬁ , O)

Foci: (-410.0). (¥10,0)
y= _2x; y=-2x

Asymptotes:

11. x*-4x=2y
This is a parabola.
Write in standard form:

X -4x+4=2y+4

200 (x-2) =2y+2)
479 a=1

a =3, b=2. Find the value of c: Vertex: - (2,-2)
Center: 0,0) Directrix: s
Vertices: (0, 3), (0, -3) . y=-3
Foci: (0, ¥5), (0.-V5)



12. 2y’ -4y=x-2
This is a parabola.
Write in standard form:
2(y* -2y+1)=x-2+2

15.

4x* +9y* -16x-18y =11

This is an ellipse.

Write in standard form:
4x* +9y* —-16x -18y =11

16. 4x*+9y’ -16x+18y =11

This is an ellipse.
Write in standard form:

4x* +9y* -16x +18y = 11

(y-D*=1x 4x*-4x+ ) +9y* -2y+1)=11+16+9 4x-4x+ D +9(y* +2y+ 1) =114+16+9
a=1 | 4x -2 +9(y-1)* =36 4(x -2)* +9(y +1)* = 36
Vertex: ©, 1) (x -2) +(y-1)’ -1 (x=2 (y+1)?
Focus: (%,1 ) 4 5+ =1
Directrix x=-% a =3, b=2. Find the value of c: a=3, b=2. Find the value of c:
t=a*-b'=9-4=5 - c=5 t=a?-b*=9-4=5 — C=J§
Center: (2 1) Center: (2, -1)
13. y'-4y-45" +8x - 4 e A Vettces: (-1, 1), (5, -
.y -4y-4 = i 2- 2+45,1 -
This is a hyperbola, Foci * Foci: (Z—Jg,—l), (2+ Jg.—l)
Write in standard form:
T_4y+4)-4x’ - = -
(y y+4) 4(zx 2x+12) 4+4-4 17. . 4x*-16x+16y+32=0
(y-2)'-4x-1" =4 This is a parabola. —
(-2 (x-1? -1 Write in standard form: M Q2
4 T Ax*-4x+4)= -16y-32+16 o +
a=2, b=1. Find the value of c; 4(x-2) = -16(y +1) 5 © mf n
Cz=a2+b2=4+1__.5 — c_—_Jg (x_2)2=_4(y+l) P ? '-[T i &\C}
Center: (1,2 gl =l L. ...:T@T
Vertices: (1,0),(1, 4 Vertex: @, -1) *r T 5kEr =
. . o S~
Foci: (L2-45) (1 2+5) Focus:  (2,-2) T geTT T
Asymptotes: y=-2=2(x-1); y-2=-2(x-1) Directrixx: y=0 & "gg.f . E s
.. o e I
ey ' z > EXLA"ES
14. 4x"+y +8x-4y+4=0 18. 4y“+3x-16y+19=0 ® S=xr & g1l
This'is an ellipse. This is a parabola. M g2+ - £
Write in standard form: Write in standard form: é 23 « -y
Ax*+2x+ 1)+ (Y -4y+4)=-4+4+4 4y ' -4y+d)=-3x-19+16 ' E.§N' N ?b,'.g =
Hx+1)7+(y-2)" = 4y=2" =30 +1) TaEx YR
oy u »
(x+1? =2 _, (-2 =-3(x+]) o ZE “
1 4 a=-2 AR ~
a=2, b=1. Find the value of c: \llﬁem,c (-1, 2) :
c?=a’-b*=4-1=3 = c=.3 Focus: (—-é 2) =
Center: (-1,2) - )
Vertices: -1,0), (-1, 9 Directrix:  x=-33
Foci: (-12-48), (-1,2+3)



20.

21.

23.

24."

x*—y'-2x-2y=1

This is a hyperbola.
Write in standard form:

(X2 -2x+)-(y*+2y+1)=1+1~1
(x -1 -(y+1)* =1

‘a=1, b=1. Find the value of c:

ct=a’+b'=1+1=2 — c=2

22.

)

Center: (1, ~1)

Vertices: 0, -1), (2, -1)

Foci: (1+42,-1),(1-42, -
Asymptotes: y+l=x-1 y+l=—(x-1)

Parabola: The focus is (=2, 0) and the directrix is
x =2. The vertex is (0, 0). a =2 and since (-2, 0)
is to the left of (0, 0), the parabola opens to the left.

The equation of the parabola is:
y* = —4ax
y'=-4:2-x
y* = -8x

Hyperbola: Center: (0, 0); Focus: (0, 4);
Vertex: (0, -2); Transverse axis is the y-axis;
a=2; c=4. Find b: o
b*=ct-a*=16-4=12
b=y12=28
) .y 2
Write the equation: T 13° 1

vertex is (0, 5). The major axisis x =0.
a=5 c=3. Findb: b* =a’-¢’ =25-9 =16.
So, b = 4. The equation of the ellipse is:

~
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Parabola: Vertex: (0,0); Directrix: y=-3; a =3.

The graph opens up. The equation of the parabola is:

x* = 4ay
x* = 43)y
xt =12y

clooy FO.O\v (4.0

Ellipse: The center is (0, 0), a focus is (0, 3), and a

Center: (0, 0); Major axis is the x-axis;

25. Ellipse: Foci: (-3, 0), (3, 0); Vertex: (4, 0);
a=4; c=3. Find b:

b*=a*-c*=16-9=7

b=

F(:3.0)

V2.0 Fa0)
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26. Hyperbola: Vertices: (-2, 0), (2, 0); Focus: (4, 0);

Center: (0, 0); Transverse axis is the x-axis;

a=2; c=4. Findb:
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27. Parabola: The focus is (2, —4) and the vertex is
(2,-3). Bothlieon the vertical line x=2. a=1
and since (2, —4) is below (2, =3), the parabola
opens down. The equation of the parabola is:

(x—h)* = —4a(y-k)
(x=-2) =-4-1(y-(3))
(x=2)* = -4(y+3)

28. Ellipse: Center: (—1,25; Focus: (0, 2);

31..

Ellipse: Foci: (4, 2), (-4, 8); Vertex: (-4, 10);
Center: (=4, 5); Major axis is parallel to the y-axis;

awS; c=3. Find b:
b*=a*-c*=25-9=16

b=4
2 -5 2
Write the equation: (x ;64) + S 25) =1
vidio P’ I

32. Hyperbola: Vertices: (-3, 3), (5, 3); Focus: (7, 3);
Center: (1,3); Major axis is parallel to the x-axis;

Toun vs3y

24,

Hyperbola: Center: (4,-2); a=1;, c=4;

Transverse axis parallel to the y-axis; Find b:
b*=c'-a*=16-1=15

b =15
~\2 _ 2
Write the equation: S} +1") & N 54) =1
{ oF4D

-2 *cta -2
T @)
o T4
ol L)

v S
©y B \
g

Vertex: (2,2). Major axis: y=2. g=3: ¢c=] . - r
Find b: 7. o=t a=4 e 6. Find b: 35. Hyperbola: Vertices: (0, 1), (6, 1);
b’ oa’-c?=9-1=8 b* =c?-a’ =36-16 =20 Asymptote: 3y +2x-9=0; Center: (3, 1);
bavBa2d3 b =20 =245 Transverse axis is parallel to the x-axis; a@ =3 The
, 2 ) : . (x=1P (y-3)°? slope of the asymptote is - 3; Find b:
- Write the equation: (x+91) N (y-2) -1 Write the equation: 6 -~ 30 - 1 b b -2
29. Hyperbola: Center: (-2, -3); chUs;: -4, -3); { . ; (x=37 il =
Vertex: (-3, -3); Transverse axis is pax(allel to) the Write the equation: S - 4 !
X-axis; a =1; ¢=2. Find b: 2f '
b*=c’-a*=4-1=3 o v, o & Hyperbola: Vertices: (4,0),(4,4); -
b=J3 6 2 z 2 d»  Asymptote: y+2x-10=0; Center: (4,2);
. ' 2 2 =, Transverse axis is parallel to the y-axis; a =%
Write the equation: & +12) b ;3) = ] Hfg, e ! slope of the asymptote is ~2; Find b:
y
F —
30. Parabola: Focus: (3, 6); Directrix: y = 8; Parabola -8 - 6t ¢ i
opens down. Vertex: (3,7) a = 1. The equation of 33. Hyperbola: Center: (-1,2); a=3; c =4 ol ¥
the parabola is: y Transverse axis parallel to the x-axis; Find b: [ ) 1|~
(x-h)’ = ~4a(y-k) b =c’-a’ =16-9=7 S O =
(x-3)" = -4y~ 7) b=7 ] @ TN
~3) = ~4(y- : 2 —_92) 2z JaN 6 8 <
(x-3) -7 Write the equation: (—xinl)— - (l.,—)— =1 -2} - o




